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= 5,305
= 2,388
= 5,570
Odt= &3t S4AlH| 6,000& 4553 2,730
= 1,092
= 500
= 1,138
202 044l 2,540 18,533 A 15,993
= 1,092
= 500
= 948
01 2L I 2,540 18,533 A 15,993
Odt=&8l3 E=H| 20,000 127X 2,540
= 1,092
& 500
= 948
AE XSHHH = 2 2H(EXE2) 6,110 59,330 N 53,220
2 2,444
& 1,100
= 2,566
201 LBt Y| 6,110 5,330 780
2 2,444




SA: BHLYD
FH: MBTHH LR (sSHL+aH/LS E)
el MERS CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 1,100
s 2,566
02 23224l 6,110 5,330 780
O&tE ZAIE AX2H AAE S
130,000& »47CH 6,110
2 2,444
< 1,100
e 2,566
ArZ HZgHH 2E 2 (& 25,400 25,400 0
= 10,160
< 4,572
s 10,668
201 LBH2E | 25,400 25,400 0
= 10,160
= 4,572
s 10,668
01 At 22l 25,400 25,400 0
OR23tHet #XE % 2,000,000& 2,000
=2 800
< 360
[ia 840
OMERAE R AR M ZHIXE
11,700, 000& »2CH 23,400
= 9,360
= 4,212
s 9,828
+==223 99,571 198,801 299,230
= 35,277
< 10,289
[ia 54,005
MEd =202 A 3,751 3,751 0
= 1,875
< 563
[ia 1,313
401 A& BIZ 201 8I 3,751 3,751 0
= 1,875
< 563
[ia 1,313
01 A& Bl 3,751 3,751 0
Ox==&lg 248 3,751,000& 3,751
= 1,875
< 563
fia 1,313
&S HolES 2 73,818 173,818 A100,000
= 22,401
= 6,425
s 44,992
401 Al HI & 28I 73,818 173,818 A 100,000

- 22 -




SN BZAYD
B MUTHHYK (S YaL/LY - ME)
Chel: 22835 (&2 d &)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
= 20,407
== 6,425
= 44 992
01 Al&H| 73,818 172,918 A 99,100
OMalFE=s HAHALY 5,000,000& =64 A 30,000
Os54 NALHAMY(22ILL)
14,762,000& * 104 & 14,762
= 7,704
= 2,117
2 4,941
OJIE HEEHE LH AL
25,580,000& =14 A~ 25,580
= 12,910
= 3,801
= 8,869
O&=Lie 2R ALY 173,800& *20ha 3,476
= 1,787
& 507
= 1,182
AIHNSOH LM (M HHLR2)(SZA) (el A 21,232 20,462 770
Hl)
= 10,616
o= 3,185
= 7,431
101 @121l 21,232 20,462 770
= 10,616
o= 3,185
= 7,431
04 J|I2ZtHIZ22NEES 21,232 20,462 770
O/t Ealls ol 2XME el 21,232
- Jl2s 66,8003 1Y »240 16,032
= 8,016
< 2,405
= 5,611
— =55 66,800& *1H x40 2,672
= 1,336
& 401
= 935
— 828 = 2,528,000& 2,528
= 1,264
& 379
= 885
NEEHBHEYHE (S HHL T2 ) (EXHE) 770 770 0
= 385
o= 116
iy 269
201 Bt A H| 770 770 0
= 385
& 116

_23_




2N
X ZH -
L= B

el

4z
Jo o oy
o=
fon 2 g

0z

|

o

it}

%

02

1>

[P

~

00

i

>

b

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

269

01 AFR2t2lHl 770 770 0
ONE AR HETR S 2EH|
770,000& » 14! 770

385
116
269

Mo A

H
|
1>
1=
(o]

41,000 105,000 A 64,000

10,800
30,200

UL

H
fon
1>
He
H
fol
o
1
o

41,000 105,000 A 64,000

10,800
30,200

M

206 M= Hl 5,000 5,000 0

01 M= dl 5,000 5,000 0
OEs+ doild Z2ME oM 7

20,0003 250 5,000

401 AIEHIZ 2 I 36,000 100,000 A 64,000

10,800
25,200

EUNE

01 A& HI 36,000 99, 100 A63,100
OEs s+ 2elAY 4,000,000& «9== 36,000

10,800
25,200

M

[P
o
ror
0
&
>

630,117 792,336 N162,219

331,335
298,782

EUNEY)

0
H
>
iz
©
~
=

52,475 0 52,475
10,921
41,554

Mo

101 1Al 52,475 0 52,475
10,921
41,554

Mo

04 JIAHIZRER 52,475 0 52,475
OYE e’ QY (2F) 15,601

-z 66,8002 x2 x862 11,490
8,043
3,447
- FE2Y 66,8002 x2 x 133 1,737
1,216
521
- 2,374,0008! 2,374
1,662
712
OYT Zel® Q128 (RHA) 36,874
-J=s 66,800 * 1271 22021 %23 32,064

R

Mo Mo

EUNEY)

_24_




SN BZAYD
B MUTHHYK (S YaL/LY - ME)
el MElEE A crel &)
5 - 4
SA - BB B (BA) - MM - BHES e HmEET
— A28 a2 4,810,000& 4,810
AT AlA 354,879 503,613 AN 148,734
s 248,414
e 106,465
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s 148,528
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OdE PEIMNAY
68,088, 000& »2km*96.25/100 131,070
s 91,749
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02 Zeltl 8,825 18,448 A9,623
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Ositg & A2 KF0 300,000& «8& 2,400
=2 X4 22 144,000 216,000 AT72,000
rag 72,000
= 72,000
401 AIEHIL 201 144,000 216,000 AT72,000
hag 72,000
= 72,000
01 Al&H| 142,704 214,456 NT1,752
OMEZRH SA2 FHH|  144,000,0002 %99.1/100 142,704
fag 71,352
= 71,352
03 A& £ 0HH] 1,296 1,544 N 248
OMER SH2 Yl 20l
144,000,000 *0.9/100 1,296
Fag 648
= 648
AFEFAFS 526,348 1,186,949 A 660,601
= 329,060
= 67,135
= 130, 153
MNEEISs0lE 2F (1 24H]) 10,285 0 10,285
101 2121 | 10,285 0 10,285
04 JIZtHI22XNSE S 10,285 0 10,285
OMEZIZ2=01& 222 1A 10,285
A== 66,800& x4 30 8,016
—F54 66,800% *4H x4 3= 1,069
—AMIEES 300,000& *4H 1,200
MNE SR 20,080 250,353 N 230,273
201 Bt A | 20,080 9,000 11,080
01 At 22l ] 16,600 6,000 10,600
OAIEZ2I2=01& ot AEH 7Y 2,000,000 2,000
OMAEZIZ2=01& Ol U & 2 6,000
— OHLH T 1,500,000& #2204 & 3,000
= 60,000& *500H 3,000
OMELZIES=01& S X 22l 6,600
—S32HE 29X 550,000 x3= 1,650
—0ls&s&EA Xt 4,000,000& * 104 & 4,000
—FoIe s A3 7Y 950,000& 950
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AR == R A=
B MUTHHYK (S YaL/LY - ME)
Rl AP ALY (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OAMBECIZ=01E OF2HE =& A
2,000,000& 2,000
02 33=29Hl 3,480 3,000 480
OAMdEcl2=01E 28 MIIRs
1,000,000& 3 3,000
ONHRISE0IE 0ISASFA 2aHeltl
160,000& 33! 480
APAFERS Ol 2 e (AR THOH & XKhel ) (el 24 Hl) 33,220 0 33,220
= 13,287
= 19,933
101 12 8] 33,220 0 33,220
2 13,287
[Ea 19,933
04 JIZtNZ22XNSE+ 33,220 0 33,220
OAHALE & & ol et 2| 32,320
—Jl2s 66,8002 x3& 120 24,048
2 9.619
= 14,429
- F5= 66,8003 x3& 155 3,006
2 1,202
= 1,804
—28= 5,266,000& 5,266
= 2,106
[a 3,160
OLAEY B & e O=4l 300,000 3 900
= 360
a 540
APAERS Ol 2 EH (A THOH 2 Xt 2l) 6,200 37,405 A31,205
= 2,480
= 3,720
201 2er= Yl 6,200 6,200 0
= 2,480
= 3,720
01 AtR 2t 2l Hl 5,200 4,700 500
OLHALEY & 2tel 423 28 400,000& »3Y 1,200
= 480
T 720
OLHAE B & U2t FXE 800,000 «53 4,000
= 1,600
s 2,400
02 SE=4Hl 1,000 1,500 A 500
OLHAIEY & & 22l & 2y 23|
200,000& 5 1,000
2 400
s 600
AFEEALS AR EA 443,186 886,367 443,181
= 303,929
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SN BZAYD
B MUTHHYK (S YaL/LY - ME)
el AT ALY CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 65,128
s 74,129
401 Al& Bl 28I 443,186 886, 367 AN 443,181
= 303,929
< 65,128
s 74,129
01 A& HI 430,476 863,820 AN433,344
OAt e XA
249,677 ,000& *1J1f 2 *97.22/100 242,736
= 169,915
< 36,410
e 36,411
OHSEHAY 193,506, 000& * 1km*97.02/100 187,740
= 125,118
< 26,811
s 35,811
02 Zeltl 9,518 16,327 26,809
OAMgY AXIAMY Zelsd
249,677,000 & =14 2 *2.06/100 5,144
= 3,600
= 772
s 772
OARBHAY ZelEad
193,506, 0002 * 1km*2.26/100 4,374
= 3,062
< 656
s 656
03 AIE 20 HI 3,192 6,220 A 3,028
OAMEE XA 208l
249,677,000 & «1J0H 2 +0.72/100 1,798
= 1,258
< 270
s 270
OHREFAIY 2048l
193,506,000% * 1km*0.72/100 1,394
= 976
< 209
s 209
YAMY HBOtEH USSR 6,377 5,824 553
= 4,464
< 957
s 956
401 Al I 28I 6,377 5,824 553
= 4,464
= 957
s 956
01 A& tI 6,377 5,824 553
OAMEAIS A et FH 6,377,000 6,377
= 4,464
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SA: BHLYD
B MUTHHYK (S YaL/LY - ME)
ol ALEEALE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 557
s 956
AFZAIE R 2l 7,000 7,000 0
= 4,900
< 1,050
s 1,050
401 Al HI K 201 I 7,000 7,000 0
2 4,900
< 1,050
s 1,050
01 A& 8l 7,000 7,000 0
OAtg e 2tel 7,000,000& 104 & 7,000
= 4,900
< 1,050
[ia 1,050
sHPac/dy g2 (HFE2S/HIIZ) 2,748,066 2,599,463 148,603
=2 25,500
< 23,100
i 2,699,466
HII2 HMelAld 29 2a 2,597,022 2,391,789 205,233
MEHIIS MelAld g 22 (124l) 343,107 0 343,107
101 @124 Hl 343,107 0 343,107
04 JIZHHZ2XREE S 343,107 0 343,107
ONMEE8s dE ¢ AIZ29 2] 343,107
—Jl=s 66,8003 *14H x2552 238,476
- =54 66,8003 x14H 52 48,631
— =28z 250,000& 14 122 42,000
—&0= 500,000& 14 %23 14,000
MEHIE MelAld 28 22 2,131,395 2,269,269 N 137,874
201 Let24E] 678,724 596, 256 82,468
01 At 22l 103,774 80,814 22,960
OARII A28 FA(Z2H EYH 2 55)
250,000 x53| 1,250
ogaly a3 ¢ 180,000& 12/ 180
OFEMZel 28 7 (EL AMES 8)
500,000& x33] 1,500
OMEE =ZAA AIZHHAE P&
,000& 1004 200
OXYN AHBER(0HAT, SZAE S) 79
120,000& »15H 1,800
Ostz zeldy 2e2g8i 28= 2,520
— &Y= 100,000 »9H »x2H 1,800
— OtM 5t 80,0003 x99 »1Z ¢l 720
OFstx B4 =2 200,000& =13 200
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SN BZAYD
FM: sA2AdH 222 (#ZES/HIIZ)
el HoI2 MeAdE 29 &2 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ORoAH 89 =22 170,000& 12 2,040
OCCTV | X &el === 280,000& 123 3,360
Os&I| HIIZEA =& 200,000& x13] 200
OMYZE Pty EH=s=8 500,000&*12] 500
Oagord FIIEE ===  1,200,000& 23| 2,400
O&IIANE EII18E ==3 2,300,000& 12/ 2,300
OX2AE B ZIZA ==&
200,000& x13] 200
OA2AANE THS BEHA 228
5,000,000& =13l 5,000
OEgdd LI FIZAN =2
35,000& *2J|*13] 70
OS0IAE, ZdQ HIZAMN =2
54,000& x13] 54
OXZTAIE UDI BHIEAME NIIEE AS8=2
2,500,000& x12& 30,000
OAZNE CHOISA SFHSM 242
5,000,000& =13l 5,000
OXFHIIES el =22 (HUE S)
5,000,000& *43] 20,000
OL2ZANE ZA 2Z (B S22 A S)
500,000& =103l 5,000
OUEAIE EIIHA === 20,000,000& 13| 20,000
02 =224l 574,950 515,442 59,508
OgZaeldlyd dIIAE2 11,000,000 =128 132,000
OogtZdzeldd =A%  1,000,000& 128 12,000
Oostgzeldy selz 10,000& 128 120
OstZaeldE AgE sl 84,000& x13] 84
OL2ZAIE HAZHl 1,347.782 x5,5652| Ef 128 90,005
OEZ s =2 ZAM 350,000& =123l 4,200
O Z Kot BAE =EHA
180, 000 *304 & *4 3| 2,160
O&&Jl FANE=HI 180,000& »12& 2,160
O&sZdll =z & =g WA
5,000,000& x13] 5,000
Oogd&eldy CCTV |XE ==l
350,000& = 11CH 3,850
Ogtdaeldy A& |2+
3,000,000 x13] 3,000
OAZLHI (Y - U, 214, 32) XS4
5,000,000& »23| 10,000
O&FZE+ MeAME SANAL(HE 2 105)
4,000,000& %23 8,000
OEAIE SN 2el 5,000,000& »23] 10,000
OMEEE HdEAE RAE=HI
5,000,000& =23l 10,000
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AR ==
. 2

el HOIE MoAE 29 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OX2AE NS 25 7¢ 20,270
— &It 1,800, 000& *13] 1,800
—AANEg EF HMEX 810,000 x13] 810
—dEEd 540,000& *43] 2,160
—W3E A L FS0HA 1,500, 000& *63| 9,000
—&dXel EX 6,500,000& x13] 6,500
O£AANE 424 25 2 26T 7
900,000& »12& 10,800
OAZAIE JIHEEI(Z2H <) wx
4,500,000& %13 4,500
OAZtAlE Jalel A, 202 A
4,000,000& *23| 8,000
OL&2HAlE Zdiel A3 & 2010 Al
4,000,000& *23| 8,000
OA2AlE 2HI010 2= 4,500,000& *13] 4,500
o222 33X W2 E= 5,000,000&*13] 5,000
OLZAIE 29 M2 5,400,000 »13] 5,400
OXZAIE SJ12=I| sXl2c
1,000,000& = 12& 12,000
OLZAIE TMS Xl 22l 2,500,000& x12& 30,000
OL2PAIE HIAT I8 H™el  350,0002 180 63,000
O22ANE dEHelANd SLHAEX R
g2 5,000,000& »23l 10,000
OX2ANE EE+XelA4d PLC RS LA
4,000,000& *23| 8,000
oYl & o=J1 =altl 300, 0002 »3CH 900
oYl & W=7 =% +¢ 5,649
-3 1,347.78&*3,5002| & 4,718
— R 1,551.12& 6002 A 931
OgtZaeldy Xz, EI1 S22l (70) 55,352
— X, I A =2 50,000& »7CH 350
- Xg, I |22l 3,571,4283 +7H 25,000
—Xtg, I |54
1,347. 783 x3,1802| & »7H 30,002
Odt=&2d Xl AXAE S E=HI
4,000,000& *23| 8,000
OgtZdaeldy MIANE |XE 2
4,000,000& *23| 8,000
OHJIEMZ SEa(Z22dd ALE DI
2) 1,000& x15,000& 15,000
206 M= Hl 82,400 57,400 25,000
01 =8l 82,400 57,400 25,000
Ostz zeldy & o120t g9z 72¢
2,500,000& x13l 2,500
OHJIE MExX EHHM 7€ 7,000,000&*13] 7,000
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SN B
Hu: BAY

ZoUCHEH 222 (BEBEBS/HIIZ)
Ee: MEHI=2 22l € XNES (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEsE 21 =8 ¢ adxz
140,000 *63] 840
OXE gsHII2 1Y =42
140,000& 103 1,400
OME=2E 22 g2 (AEH, &) HE
350,000 23| 700
AsHIIE =H XA 15,000 80,000 A 65,000
= 4,500
= 2,100
= 8,400
401 AIEHIZ 201 Y| 15,000 80,000 A 65,000
= 4,500
= 2,100
= 8,400
01 Al&H| 15,000 80,000 A 65,000
OgsHI)I= 2sdoty &= XY 15,000
— & &y 10,000,000 *1JH & 10,000
= 3,000
= 1,400
= 5,600
- J|28 5,000,000& *1JH & 5,000
= 1,500
& 700
= 2,800
SZEHHIY =M XN 130,200 121,830 8,370
= 21,000
= 21,000
= 88,200
301 LBt A= 130,200 121,830 8,370
= 21,000
= 21,000
= 88,200
12 JIEtE A= 130,200 121,830 8,370
OsZEHHY =HE248=2 X
2,100, 000kg*62& 130,200
= 21,000
& 21,000
o 88,200
HESHAY| (SHAZ W) (JIEH/DIE 228,316 264,492 N36,176
ol 2HH| 97,126 106, 362 N9,236
ol ALY 97,126 106, 362 N9,236
101 Q124 H| 97,126 106, 362 N9,236
01 2 97,126 106, 362 N9,236
OB A2 AL 223 97,126
— 2 HtX 97,126
6= 11,401& x5 »40A| 2t <128 27,363
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SA: BHLYD
M HHE2FAH(2Z A D) (IIEHIIE
Sl ol ) CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 10,299& *8H x40l 2t 128 39,549
8= 9,246 x5 +40A| 2tx 128 22,191
- 92 8,357 & 2 »40A| 2t+ 128 8,023
JlE 3l 131,190 158,130 A 26,940
JlEdul (g &g ) 30,570 29,850 720
201 ¢4l 29,250 29,850 A 600
01 At 2t 2l 29,250 29,850 A 600
OYRFL MRES F2 10,0008 ~26H 128 3,120
OYLEA H =ZABX P
25,0003 *26F x0.6% A« 122 4,680
OYERFd =gIl &X=Z 500,000 «1CH~12E 6,000
OInEH EH F(EW) 250,000 *9CH *33 6,750
OIZeglH EU 2 (Z2) 300,000 *4H 33 3,600
OAMEIIJl =2l & MHl& 200,000& =128 2,400
OAMEA d - 2] R 22l 2,700
—ARA d -2 RX2
225,000 128 2,700
202 04 Hl 1,320 0 1,320
01 = LH 4 1 1,320 0 1,320
Oduldlel Bt&Z =M SALA 048]
20,0003 x22H +3 1,320
J2dH (Mg 22,890 28,620 A5,730
201 Let2d] 3,840 4,320 A 480
01 At 22l 3,840 4,320 A 480
OstZZM HYR=X SEH 8,000 «5+60L 2,400
OYRFT MRES F2 20,0002 +6H 128 1,440
202 044l 19,050 24,300 25,250
01 = LH o4 1l 19,050 24,300 A5,250
OBZIH AL 2L SO
20,000 «6H 92 «12& 10,800
OBZIH A= 29 SO
110,000 x5H 32 53] 8,250
gy (g dstedy) 13,590 13,590 0
201 L4 2,160 2,160 0
01 At 2t 2l 2,160 2,160 0
OgZ&s FLF& =Hl 8,000 «3H 60 1,440
OYEFA ARES & 20,0002 +3H~128 720
202 Odl 11,430 11,430 0
01 = LH 4 1l 11,430 11,430 0
OgZ&a = 22U &0
20,0003 «3H 92 «12& 6,480
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S BHAS D
Mz HMSAHH| (SZ A2 ) (IIEHDIIE
¢l =gl CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OtHAES gR=X 2 =& 0|
110,000& »3H 3L 53| 4,950
23 (MEFIdEeH) 18,360 27,180 N 8,820
201 gBt24y| 3,120 4,320 A 1,200
01 AP 2t 2| H| 3,120 4,320 A 1,200
OMteEHY =8 2 2d|l 8,000 x4 60 1,920
OgRFN AREBEE 7Y 20,000& x5H «12& 1,200
202 044l 15,240 22,860 NT,620
01 2L Y| 15,240 22,860 NT,620
ONEBY AREX 2L SHOIY
20,0003 x4H »92 x12& 8,640
ONEBY AREX 29l SO
110,000 *»4H 3 %53 6,600
Jl2dH(MEBESEH) 18,120 18,120 0
201 et 2,880 2,880 0
01 AP 2t 2] H| 2,880 2,880 0
OttelE2s ARF=A Z&Hl 8,000& *4H x60L 1,920
OgeFd ARESE 7Y 20,000 4% x12& 960
202 044 15,240 15,240 0
01 2L I 15,240 15,240 0
ONteE2s AR =8 2 &304
20,000 x4H 9L x 128 8,640
OUYES AREX 22 EF 0|
110,000 »4H 3 x53] 6,600
Jl2dy| (s3I dHeY) 27,660 40,770 A 13,110
201 LBt 4,800 6,480 A 1,680
01 AP 22| H| 4,800 6,480 A 1,680
Ot A2|HEH HRF=X ZSFH|
8,000 »6H x60L 2,880
OgeFd AREE 7Y 20,000 8 128 1,920
202 044l 22,860 34,290 A 11,430
01 2L Y| 22,860 34,290 A 11,430
Ot a2|dEH ER2F& 2 S0 Y|
20,000 x6H 9 x 12 12,960
OstZz |y gRFX 22 ESH0MH|
110,000 x6H 3L x5 3| 9,900
NPE=S(BIAMZW)(BHEES/HIIS) 17,000 17,000 0
WEAHAXI= 17,000 17,000 0
LHEAHH K= 17,000 17,000 0
701 JIEIS HSHEZ 17,000 0 17,000
01 JIEIS HE &2 17,000 0 17,000
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A BANYD
HFH: NRES(SINUER)(#EBES/HIIS)
Ehel: LHEHAHX = o
e
| OH o4 H =2+

CHE - EI(BA) - NRAY - BYS

H =0XdJI3 sd3(HIIS8
29 10/100) 170,000, 000& =10/ 100

17,000
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